

① Développer

$$(2x + 17)(5x + 4) =$$

$$(3 + 7x)(0,5x + 4) =$$

$$(3,5x + 7)(12x + 7) =$$

$$(3 + 8x)(5 + 4x) =$$

$$(3x + 10)(5x + 4,5) =$$

$$(17 + 2x)(4x + 5) =$$

$$(3x + 7,5)(5,5x + 4) =$$

$$(3x + 5)(35x + 4) =$$

$$(3x + 7)(3x + 7) =$$

$$(5 + 4x)(5 + 4x) =$$

② Développer

$$(2x - 17)(5x + 4) =$$

$$(3 - 7x)(0,5x + 4) =$$

$$(3,5x + 7)(12x - 7) =$$

$$(3 + 8x)(5 - 4x) =$$

$$(3x - 10)(5x + 4,5) =$$

$$(17 + 2x)(4x - 5) =$$

$$(3x - 7,5)(5,5x + 4) =$$

$$(3x - 5)(35x - 4) =$$

$$(3x - 7)(3x - 7) =$$

$$(5 + 4x)(5 - 4x) =$$